Lecture 21 Today o Fuzzy Calculus Losst time D P-D guarantee conti-nved D Frechet subdifferential 7 Bensity Theorem Fuzzy Calculus The properties of the Frechet subdifferential are weaker than what we had for convex subdifferentials How about calculus rules? Well, it turns out that they can also fail spectacularly. Example: Consider two simple fonc tions f:R->IR and g:R->IR given by f(t) = |t| and g(t) = -|t|. $\frac{\partial f(x)}{(L-1),1} = \begin{cases} -1 & \frac{1}{(L-1),1} & \frac{1}{(L-1),1} \\ 1 & \frac{1}{(L-1),1} & \frac{1}{(L-1),1} \end{cases}$,



Before ve proved this result we note that it implies a sum rule thanks to the following separable sum rule.

Let $f: E^{k} \rightarrow RU h toof be a closed$ $proper function s.t <math>f(x_{i_1,...,x_k}) = \sum_{i=1}^{k} f_i(x_i)$ with f_i closed, proper. Then, $\partial f(x_{i_1,...,x_k}) = \begin{bmatrix} \partial f_i(x_i) \\ \partial f_i(x_{i_k}) \\ \vdots \\ \partial f_k(x_{k_k}) \end{bmatrix} \cdot -t$

Theorem (Fuzzy sum rule): Consider a pair of closed, proper functions $f_1, f_2: E \rightarrow IRUdog$. Then,

 $\partial (f_1 + f_2)(x) \geq \partial f_1(x) + \partial f_2(x) + \lambda$. Moreover, for any $v \in \partial (f_1 + f_2)(x)$ and $\varepsilon > 0$, we have $\exists x_1, x_2 \in x + \varepsilon B$ s.t. $v \in \partial f_1(x_1) + \partial f_2(x_2) + \varepsilon B$.

Proof: Apply the forzy chain role with $f(x_1, x_2) = f_1(x_1) + f_2(x_2)$ and

 $C(x) = \begin{pmatrix} x \\ x \end{pmatrix}$. Then, $\exists y = (x_1, x_2) \in C(x) + \in B$ and $\nabla C(x) = [I I]$ and so $\chi_1, \chi_2 \in \chi + EB$ VE $\nabla C(x)^* \partial f(y) + EB$ and Separable $= LI IJ \begin{bmatrix} \partial f_i(x_i) \\ \partial f_i(x_i) \end{bmatrix} + EB$ sum Ne = $\partial f_1(x_1) + \partial f_2(x_2) + \in B.$ Π Proof of Fuzzy Chain Rule: Before ue state a nontrivial fact about Freetet subelifferentials. Claim (Viscosity subgradients): Consider a function $f: E \to \mathbb{RU}_{1+\infty}$ and xedomf. Then, VE Of (X) if, and only if, there exists a C^{1} -function $w: U \rightarrow \mathbb{R}$ defined on a neighborhood U of x satisfying w(x) = f(x), $\nabla w(x) = v$, and w(y) < f(y)for all yeuraxy. We leave this claim as an exercise.

Inclusion (2) is easy to prove using simply the definitions of subdifferen trals and Jacobians. We focus on (C). Let ve afex). By the claim above Zw: U > R a C'-func hon with $\nabla w(\bar{x}) = V$, $f(\bar{x}) = w(\bar{x})$, and f(x) > w(x) Vx EUXxy. Thus, 7 is the unique minimizer of min f(x) - w(x)xev with f(x) - w(x) = 0. Shrinking U, we might assume it is closed and c is differentiable on U. Let VeY be a closed ball around C(x) such that $h(y) \ge h(c(\bar{x})) - 1$ $\forall y \in V.$ Consider the sequence of problems (w) min $h(y) - w(x) + \frac{n}{2} \|y - c(x)\|^2$ xev, yev Since these losses are closed and coercive, then there exists a

sequence of minimizers (xn, yn).
Let us show this sequence converges
to (X, c(X)). Since the sequen-
ce is bounded, ve might assume
where $(x_n, c(x_n)) \rightarrow (x^*, y^*)$. Note
that
$f_n(X_n, g_n) \leq F(X, C(X)) = 0.$
Thus,
$\frac{1}{2} \ y_n - C(x_n)\ ^2 \leq w(x_n) - h(y_n).$
the right-hand is bounded since w
is C^1 and $-h(y_n) \leq -h(C(\overline{x}) + 1 \forall n$.
Then, dividing by n and taking
$limite milde m = c(x^*).$
Closedness ensures
$f(x^{*}) - w(x^{*})$
$= h(y^*) - w(x^*)$
$\leq P_{1} = \left\{ \left $
$\sum_{n \to \infty} n \to \infty + n (g_n)^- w(\lambda_n) - \frac{1}{2} \ g_n - c(\lambda_n)\ $
= liminf $F_n(x_n, y_n)$
N-300

 \leq liminf $F_n(\bar{x}, c(\bar{x})) = 0.$ $n \rightarrow \infty$ = min $f(x) - \omega(x)$ Hence, xª minimizes f-us over U. Since & was the unique minimizer of this problem, $x^* = \overline{x}$. Then, equa lity holds throughout and so h(yn) -> h(y). Since xn -> x, then for large n, xn eint U, optimality conditions for (M) read $0 \in -\nabla \omega(x_n) - n \nabla c(x)^*(y_n - c(x_n))$ $0 \in \partial h(y_n) + n(y_n - c(x_n))$ Substituting the second inclusion in the first one and adding and substracting v on both sides yield $v \in \nabla c(x)^* \partial h(y_n) + v - \nabla w(x_n)$ The theorem follows immediately. Π